Seat No.:

Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY

Diploma Engineering - SEMESTER-II « EXAMINATION - SUMMER - 2014

Subject Code: 3321901 Date: 16-06-2014
Subject Name: Mechanical Drafting
Time: 10:30 am - 01:00 pm Total Marks: 70

Instructions:

Attempt any five questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.
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Answer any seven out of ten.

State the type of sections.

What is bill of material?

Draw symbols of any two welding symbols.
Draw symbols of Elbow 45 & T joint

Draw symbols of vacuum & oil.

Draw symbols of globe valve & safety Valve.
Draw symbols of nipple & Coupling.

Draw sketch of Counter Sunk & Pan Rivet.
Draw sketch of Ring & Wing Nut.

Draw sketch of sellers & B.A. Thread.

A Pentagonal pyramid, base 30mm side and axis 75 mm long, is resting on its
base on the H.P. with one edge perpendicular to the V.P. It is cut by a section
plane perpendicular to the V.P., inclined at 45° to the H.P. and intersecting the
axis at a point 35mm above the base. Draw elevation, sectional plan & true
shape of section.

OR
A cylindrical, diameter of base 60mm and height 75mm is inclined 45° to H.P.
& new plan axis inclined 30° to V.P. Draw the projection of solid.
Draw the development of given solid in fig. - 1.

OR
Draw the development of given solid in fig - 2. Consider angel as 45°.

A square pipe of 50mm side has a similar branch of 30mm side. The axis of
the main pipe is vertical and is intersected by the axis of the branch at an
angle of 30° to the H.P. All the faces of pipes are equally inclined to V.P.
Draw its projections showing Line of intersection.

OR
A vertical cylinder of 80mm diameter is penetrated by another horizontal
cylinder of 40mm diameter. The axis of penetrating cylinder is parallel to
both H.P. and V.P.The two axes are 9mm apart. Draw the curves of
intersection.
A vertical square prism, base 50mm having its faces equally inclined to V.P.
is
Completely penetrated by a horizontal cylinder of 40mm diameter, the axis of
which parallel to V.P. and 6mm away from that of the prism. Draw its
projections showing curves of intersection.

OR

14

07

07

07

07
07

07

07

1/6



Q.4

Q.5

(b)

(a)

(a)
(b)

(b)

(a)

(b)

A vertical cone, diameter of base 70mm and axis 90mm long is completely
Penetrated by a cylinder of 40mm diameter. The axes of the cylinder are
parallel to H.P. and V.P. and intersect the axis of cone at a point 27mm above
the base. Draw projections of the solids showing curves of intersection.

Draw following missing views of fig.-3 using “First Angle Projection
Method.”

(1) Left Hand Side View

(2) Bottom View

OR
Draw Missing right hand side view & rear view of fig. — 3 using “First Angle
Projection Method.”
Draw following views of fig.- 4 using “First Angle Projection Method.”
(1) Front View
(2) Sectional Plan.
OR
Draw following views of fig.- 5 using “First Angle Projection Method.”
(1) Front View
(2) Sectional side view.

A Detail of drawing of tool post is shown in fig — 6. Draw top view &
sectional front view of assembly and bill of material.
(Use First Angle Projection Method.)

Write details of given surface roughness symbol for fig: 7.
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FIG: 7

FIG: 3

30°

SQUARE PRISM
BASE SIDE 30 mm

FIG:1
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FIG:2

Fig: 6
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FIG :4

FIG:5
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